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I can classify triangles on the coordinate plane using slope and distance formulas
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To classify triangles on the coordinate plane

1) Use the distance formula to find the length of each side of the triangle

If no sides are congruent, the triangle is Scalen<

If two sides are congruent, the triangle is soscelcs

If all three sides are congruent, the triangle is cqmm’rtm\

2) Use the slope formula to determine if any sides are perpendicular to determine if the triangle is a right
triangle.

IF the triangle IS a right triangle, the right angle will always be opposite the longest side, so
find the Siepef ot e two Shorfest Sided

Example: Classify ARST by its side lengths. Then determine if the triangle is a right triangle
Step 1: Use distance formula to find the side lengths
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sides, so it is Scavene

Step 2: Use slopes to determine if there is a right angle. The two shortest sidesare ST and _—*&l so find
their slopes. Mg = -1-d -3 |3
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ST and RT ./are not perpendicular, therefore Z RT§ (ig/is not a right angle and ARST
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Solution: ARSTis _Q Scalene nq'm T ianale.




Think you got it? Great! Try a couple on your own ©

1) The vertices of AXYZ are X(~2,3),Y(-2,-7),and Z(4,-5).

Classify AXYZ by its side lengths, then determine if the triangle is a right triangle.
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2) The vertices of APQR are P(-3,-1), Q(-4,4), and R(7,1).
Classify AXYZ by its side lengths, then determine if the triangle is a right triangle.
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